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I n mwn: repsonsibility for commitments to n»an p1a

a

b

If: he commits to give “this ox” or “this house” as a 12p
i And: the ox died or the house collapsed —no liability
But if: he adds the word “/%»” (e.g. 127 ¥9¥ nt 1) — liable for payment
i 3772 871’7 liability only if he adds in 17" — as in 127p Y N1 MW N7; else, he meant “R2anY *9»” and has no m»nr
ii  Challenge: ®:3 127y Rnoan — if he says "N Nt MW" — the MW is WTPN; N*yn applies and if lost or stolen —no M INR
1 But: if he said "n%p " nt V" — same applies, but he is liable if lost or stolen
iii Answer: this is no stonger a challenge than our mwn, which we interpreted as including “n7” - add "n7” to Xnavin
1 Challenge: xoo (ibid) addresses "n7” = our Rw’ cannot imply "n1”
(a) 90 if he said “>9» 1w !M7” —no V1PN (=no n»yn) and no M>INR — but liable for payment of nn7
2 Answer: in both 8901 Rw”, he used "n1”
(a) w7 he said "nTH WD VTR
(b) ~970. he said “when the money comes, they are wnp”
(c) Challenge: a person may not be v1pn something that doesn’t yet exist (»"225w7 w7 1pn DR PR)
(i) Answer (27): this is per n”, who allows for D% X2 RYW 9272 VTP
(if) note: alternative version — »ar or ®Ton 1 identified this Xn>»1 as per n"1 — Y"Ha507 VIPNR DR
(iii) note: some read this discussion as being about a case of renting a house which then becomes y»in
1. ruling: even though 103 declared it V9N, the owner may say to renter — P1a% 75w "1
a. but if: he destroyed the house (per 1n05’s directive) — owner must furnish another house
b. and if: the renter was v»1pn, he pays rent to wTpn
i.  challenge: how could renter be v»*1pn? Per v. 1, only owner could dedicate it
c.  rather: means that if the owner was v»1pn, renter pays v1pn
i.  challenge: how could he live there — that is n%’yn
ii.  furthermore: if he lives there, it becomes 191N (via n»’»n) — no payment to WTpn
iii. answer: owner said “when rent comes, it is w1pn” (attribution to n” as above)

II  ymwn: Taking collateral from those who have obligations to the wTpn

a
b

27v 2377 we take collateral
K mxzon 237 we do not take collateral — since they desire 193, there is no need
i Exception (97): 11 nRon — since he may cut hair etc. once he’s brought any one of the n21p, he may delay
oonswr mow 237 we take collateral - since it does not affect their ritual status, they may delay bringing 127p
i Exception (977): nT9v N9 —
1 Challenge: the 0% is only mentioned first for declaration, not for offering = she may delay, as nkon came first
ii  Rather: y11¥n n%y, per 2”111 YRy "1 — all mMaap are sine qua non for his NNo
General assessment of seizing assets: although he requires full willingness to achieve 1793 — per v. 2 — mx19
i Nonetheless: we force him until he declares ™ n¥1”
1 x93 v. 2 - 1mMR 21 D>we coerce him to bring; 11%7% — he must declare ™ n¥1”
2 SNipw: a9y requires confirmation of donor; teaching that even if another brings for him, must gain his assent
(a) Reason: he may wish to use his own funds to take care of his obligation
(b) Challenge: if he commits to bring another’s nwx1 nkon — only valid 1ny15; DNP5>VY N9y — even without wny7
(i) Answer (for 5810®): that is at point of 1193; requirement of nYT for DNYWY N%Y - at point of NwIan
(c) Note: this is at odds with X9y — only difference between nron/n9y is requirement of nyT at point of nwan
(i) However: at point of n193, both require 0’9y ny1
(d) And: 5w interpets Rn»1a (above) as referring to N193 NYw; XMy interprets as referring to N9 NYw
(e) 97 we can reconcile mn»12 and X5Y/YRNY can each interpret as per their positions
(f) However: YR1mw and R are certainly in disagreement (justification:2%1nw may have meant also nw1an nyw)
ii ~ Similarly: we force a V3 and he must declare "R nx¥1Y”
1  w”rif someone declares a Ny about his v (that it was given under duress =invalid) — this is a nyTn
(a) Justification: even if he was nwwn and gave it — unless he says »x n¥, his ny7n stands (
(i) Proof: else, the mwn would read 1w 7y, not MRW Ty
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